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Aurelien Geron: 42 + 248

Hands-on Machine Learning
with Scikit-Learn, Keras & TensorFlow

\ f(3,4) = 42

9 (3,4) =24
oX

V Taylorjevem razvoju je drugi ¢len odvod!

..................

a+be withe?=0

stored as a pair of floats (a, b)
e.g., (42.0, 24.0), not as
42.000024

Figure D-2. Forward-mode autodiff using dual numbers
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Example1. Evaluate f(z) = In\/(1 +z)/(1 — z) — tanz at 2 = 0.0015.

Here are answers from several calculators and computers: —9 x 10716, 3 x
10719, 6.06 x 107", 5.5 x 107*%, All of these are wrong! Let’s use series to see
what's going on. By Section 13 methods we find, for z = 0.0015:

3 5 7
1n\/(1+z)/(1—x)=x+%+%+”7---
3 2% 1727
tanz =+ —+ — +

3 15 @ 315

x5 427
fe=5+a

= 0.001500001125001518752441,
= 0.001500001125001012500922,

= 5.0625 x 107*°
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